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HE D (3) 160 cm?

(1) 30x2+34x8
=60+ 272
= 332(cm?)
(2) 30x2+22x10
=60 + 220
= 280(cm?)
(3) 50X 2+ 30x2
=100 + 60 = 160( cm?)




(1) 11x4x2+11x8x2+4x8%2 = 88+ 176+ 64 = 328(cm?)

(2)9X3Xx2+9XTXx2+3x7Tx2=54+126+ 42 = 222( cm?)
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(245) x2x 7 =98(cm?)

w2hA] AR o= 10 x 2 4 98 = 118(cm?)
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298 cm?

A5 9] Zeol= (BRel)x2+(2Hel) ,
(Tx4)x2+ {(T+4+7+4)x11}
= 28 X 2+ 242 = 56 + 242 = 298( cm?)
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[> ®E T 1350 cm?

(ASHA 9] 2ylo]) = (g "] Hol) x6
(B4 o])= (15 x 15) x 6 = 1350( cm?)
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(BHo])=42x2+ 26 %6
= 84 + 156 = 240( cm?)
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=(10x12)x2+4 (10+ 12+ 10+ 12) x 8

= 240 + 352 = 592( cm?)

(92olo] A7) Ael)

= (11x 11) x 6 = 726( cm?)
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= (9x13) X2+ (9+13+9+13) x8

= 234 + 352 = 586( cm?)
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Fa]: (6x6x6)x4=_864(cm?)




